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E59 = VE(mg) 5.0(70L(ug) 3
E93VBImg)| 0.65[EL>(ug) 5

FA7YY(mgNE 8.0| Bt (g) 5.0

)

E93B2(mg)| 0.70|BiEIEZE()| 0.05
)
)

E93UB6(mg)| 0.80[57710-A@] 1.0

E93uB12(ug)| 1.20574/—2@®] 1.0

E%(ug) 120v-IF9EERER| 100

NV hTVB(mg)| [3.0]
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BERITERBRLLBREY =Y
PERIIZBADRTA L

Ses wb?
‘4. fg .. POy ety
gor T (320 x] ,4»15
‘*j 75kcm‘125"‘
%*20:/0**3;%.-:# |
‘*ho“é‘:':z?m

Fﬁm #WoU=21
Sunkit< Ee00gE +Fber( =78 1=A0= |

*[ INIESEE 1/%y2125mlés 1y
TrIF—(keal) 75|E9=YC(mg)| 500
X5 (g) 1M0|AYUDL(Mg)| [13]
FehlE<HE(Q) 0.1[AIYD A(mg) 80

BEEa () 0|RT%YYL(mg) [2]
K1Y (8) 23.6|U ~(mg) [8]
FhUD LMY 6|#%(mg) 5.0
K5 (g) 0.3|E#h(mg) 11.0
E9IVA(UGRAE)|  175[8R(mg) 0.18
E9=UD(ug)| 1.25(%xHV(mg)| 0.40
P9=SVEmg| 5.0/704L(ug 3
E93UBI(mg)| 0.65|EL > (ug) 5
E93YB2(mg)| 0.70|RiFiEZE ()| 0.02
F47 9 (mgNE) 8.0| B (g) 5.0

E93YB6(mg)| 0.80|57F10-2() 1.0
P9IvB12pg| 1.20[574/-Z@] 1.0
{0 120|y-IFBER(EE)| 100
YT VBmg)| [3.0]
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Ix¥—(keal)| 392|E9=D(ug)| 27.5

FehIF<E(R) 0.3|E9=VE(mg)| 35.0

BEE(g) 0.1|E9=VBI(mg)| 7.0

BKIEH(g) 97.4|E9=B2(mg)| 8.0

BIEHESE@)| 0.12|7147YV(mg) 75

AYUDL(mg) 21|93 UB6(mg) 7.0

AILYDL(mg)|  405[E55B12(ug)| 12.0

RTZYIL(mg) 4|ZEB(ug) 1200

U(mg) 7|V hFUB(mg)| 25.0
#(mg) 26.0|E9=>C(mg)| 2000
Ti(mg) 50.0[L > (ug) 260

E5SYA(ug)| 4250

B3 2160-

MBEOEY = L8k i
ZUYIRDMREEI T,
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WITrva—
J419yFEBER) ALY VG

#R100g& 1)

TxbF—(keal| 392[E9=>D(ug)| 275

TchE<E@®| 0.3[E9=VEmg)| 35.0

BEES () 0.1|E9=B1(mg) 7.0

RKIEV(8) 97.4|E9=B2(mg) 8.0
BIEHESE@E)| 0.12|747YY(mg) 75
AUDL(MmE) 90|E9=VB6(mg 7.0

)
ALY DAMmg)|  405/E9UB12(ug)| 12.0

R77vohmg|  BEE(ug | 1200

U>(mg) 148V b7 VBmg)|  25.0
$(mg) 26.0]E9=>C(mg)| 2000
HE(mg) 50.0[ 2L (ug) 260

ES=VA(ug)]| 4250

2,160
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IxIF—(kea)| 392|E9=rD(ug)| 27.5

IehiE<B@| 03|c5=VEmg)| 350
FEE () 0.1|E53vB1mg| 7.0
BoKiEWE | 97.4/E9=vB2mg| 8.0

BIEHESER)| 0.12|747YV(mg 75
AYUDL(mg) 36|E93VB6(Mg)| 7.0
Ay9i(mg|  405[E93vB12(ug| 12.0
XT%YYL(mg) S|E#(ug) 1200

U(mg) 8|\ b7 VBi(mg)| 25.0
#(mg) 26.0|£9=>C(mg)| 2000
FEi(mg) 50.0[EL > (ug) 260

E5SYA(ug)| 4250
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IxIbF—(keal)| 392|E9=D(ug)| 27.5

erlE<HEE|  04|E9=VEmg)| 35.0

FEEE () 0.1/E9=YB1(mg)| 7.0

RAKIEV(8) 97.3|E93VB2(mg

BIEHEZE@E)| 0.12|747YY(m

)
g
HUDLmg)|  13]E95UB6mg)] 7.0
by BL(mg)|  405|E55B12(ug)

RT7vohmg|  A[EE(ug) | 1200

U (mg) 6|/t hTUB(mg)| 25.0
#(mg) 26.0|E9=2C(mg)| 2000
Fih(mg) 50.0[EL > (ug) 260

E9=VA(ug)| 4250

2,160
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BRWA4g(200ml%) &1y
TbF—(keal)|  16[BIEHELE ()] 0.008
fehlE<E(@| 0.05[7 47V (mg) 4
B () 0|E9=vB2(mg)| 0.45
k1L () 3.9[E9=YC(mg)| 100

1,620m
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B%=E4g(200ml5) &1y

IR)bF—(kcal) 16|RIEHE=iE(g)| 0.008
ferlE<HE(Q)| 0.05|F4 7Y (mg) 4
BEE(g) 0|E9=B2(mg)| 0.45
BAK{EH(8) 3.9|E9=C(mg)| 100

3% Bl dowse

E9=JBH0R
L)

NOZARRE
E9S VBREOR ) E-F 5

WDBDKDEIEEERICEIZ -

SIRIIFAEDITRAF T

AHB8gdI
IRILF—(keal) 30|E9=VEmg)| 2.0
rehIEL<E (@) 0[£5=>B1(mg)| 0.20
BEE(g) 0[E9=YB2(mg)| 0.20
RAKIEH(R) 7.6/7A7YY(mg)| 3.2
FhUDL(mE) 38|E'93B6(mg)| 0.30

ALY L(mg) 50|E93YB12(ug)| 0.50

#(mg) 1.0|ZEBR(ug) 40

ES=VA(ug)| 120[/iUr5VEmg| 1.0

E9=D(ug)| 0.70|E9=C(mg)| 300

‘%\‘“ ’a’o - 6\‘“ ’0’ -
S(J* 600 S(p* 400
¥ 3 1,620m A 1,459
@B NUZB&E® NOZBRH
E9SUHHOREH) VATH ) - E9SVBHORER) N
WDBDKD s EARICEY =Y - WDBDKNaEERICEY =Y -
Ve Al SRSIVBIEMTRET . i Il bue SRSIVREIMTAES .
CI=IUBRHOR EI=URH0E
() ] (mm)
s DR y

A&m8gdt)
I)bF—(keal) 30|E9=VE(mg)| 2.0
TehIE<E(R) 0[e5=>Bi(mg)| 0.20
FEEE () 0|E9=>B2(mg)| 0.20
RAKIEH(B) 7.6|F47Y2(mg) 3.2
FrUDLAME|  38[E9=UBs(mg)| 0.30

|
AT ﬁ

FE8gdHr)

IRILF—(keal) 30|E9=VE(mg) 2.0

TehIE<E(g) 0[e5=B1(mg)| 0.20

BEE(g) 0|E9=B2(mg)| 0.20

RAKIEHI(R) 75[F47YY(mg)| 3.2

FhUD L(mg) 43|E9=VB6(mg)| 0.30

ALYDLmg|  50[295vB12(ug] 0.50 0w v ALYDLAmg|  50[E957B12(ug] 0.50
\ #%(mg) 1.0 FE®B(ug) 40 \ O . #%(mg) 1.0|ZEM(ug) 40
? E9=vA(ug| 120U r7vEmg| 1.0 ? E9=VA(ug)| 120/5Ur5 Bmg| 1.0
E5=>D(ug)| 0.70[E5=Cmg) 300 E9=>D(ug)| 0.70]E9=C(mg) 300
WL A, S 7,
S(Jo* S(Jo*
! s 1,459m L ol 1,459q
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T)bF—(kcal) 3.9|E93VB1(mg)| 0.23

ThIE< B (@ [I0-001|E9= VB2(mg)| 0.34

BEES () 0001~001)+4 7~ (mg) 3.3

RAK{E¥(g) | 0.953|E9=2B6(mg)| 0.35

FRUDAMg| 3.16|c95B121g] 05

E9SVA(ug)| 185|FEE(ug) 48
©e

(
E9=D( 0.7|\V h7 VB(mg) 1.0
9= VE(mg) 2.0|E9=C(mg) 27

EX 595

EFEVE EPEVE
s
20

1733

100gd57=t)

Ix¥—(keal)| 375/E9=VBI(mg)| 176.0

FehIF<E(R) 5.2|E93VB2(mg) 7.0

(B 12~100]E9=B6(mg)| 58.0

BK{E#(® | 76.0[F®(ug) 10000

BIBHESE (g) 001~014]/1Y b7 VB (mg) | 1300~3100

#(mg) 500.0

6,994n

S0g(25g-288)

Fﬁﬁﬂ NIZYIVFRT-ZH
MZYTUR E9SY_BEDK

NEUNBREEDEY = E#ky
& CIF A THiE. CIFADBV LT Z
DFEF(BKN1EGICH UAREK0.758
DERFETHAKK10kgn))

BHRE16£AE0.75g5

IxIF—(keal)| 2.82|E9=VBI(mg)| 1.32

fehIE<E(| 0.04|E9=VB2(mg)| 0.05

BEES(mg) 9~75|E93VB6(mg)| 0.44

RAKIEH(8) 0.57 | (ug) 75

RIFHEZE(mg)|0.08~1.05]/7> b7 V#(mg) |0.98~232

#%(mg) 3.75

25g
X2

463m

50g(25g <208) -
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EZE SEME0.75g51Y

IxIF—(keal)| 2.70|E9=VBI(mg)| 1.40

TehIE<E(@]| 0.04]£9=UB6(mg)]| 0.50

FEE(mg)  [15~165]E95VB12(1g)|  2.40

BAK{E¥(8) 0.62|ZEM(ug) 200

25g
X2

BigHZE(mg) 0
432m




